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A cyclist moves in a way such that he t
displacement when he takes his sixth turn?
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{wherea=8.5m,b=2.5ms?and t is measured in seconds :
(i) What is its velocity at t = 0 s and t = 2.0 s?
(i) What is the average velocity between t=2.0 s and t = 4.0 s?

@) Can the magnitude of
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A body tied to one end of a
expression for the velocity of’

(i) tension at the top and at the bott
(ii) minimum velocity at the lowest point
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(ii) Which of the following statements is true: -

(a) g is less at the earth’s surface than at a height above it.
(b) g is less at the earth’s surface than at a depth below it
(c) g has its maximum value at the equator
(d) g is greater at the poles than at the equator "

(iii) If ‘R’ is the radius of the earth, the height at
1/4 th its weight on the surface of earth,

(a)2R
(b)R2

(iv) The weight of a body o
the earth’s surface. If
change in its weight is

(a) 1% decrease
(b) 1% increase
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() Derive an expression for the maximum velocity of a car taking a

circular road having a coefficient of static friction ‘u.
(b) A cyclist speeding at 18 km/h on a level road takes a s|
without reducing the speed. The co-effic
road is 0.1. Will the cyclist slip while

curve on a flat
will it skid if th



